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L. Evaluate [f xy(x + y)dydxtaken over the areabetweeny = x% and y = x [10] |cCoOl L3
: o oo e_)r [LO] W
Evaluate the double integral jf —dxdy by changing the order of
Y A
integration.
3, i Jin® fat—p® [10] cot| s
Evaluate J. f f xyz dxdydz |
0 0 0



— T /.

s

-
Bt

4. Show that F = (siny + 2)i + (xcosy — z)j + (x — y)k is irrotational. Also, find scalar

6.

~

function ¢ such that F = Vo

. Find Div F and curl F where F = grad(x® +y? + z% — 3xyz)

Show that F = (y? — z2 + 3yz — 2x)i + (3xz + 2xy)j + (3xy — 2xz + 2z)k is both
solenoidal and irrotational.

. Find the directional derivative of ¢ = xy? + yz?3 at the point (2,-1,1) in the direction of the
vector [ + 2j + 2k.
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